
PICNIC TABLE ASSEMBLY INSTRUCTIONS

Step 1: If using wood provided by others, refer to pages 3 and 4 for hole drilling patterns. If using

wood provided by Jamestown, begin by separating the seat boards (2 req’d) from the table top

boards (3 req’d) (refer to pages 3 and 4). Place the 3/8”-16 x 2 1/4” carriage bolts through the pre-drilled

table top boards. Place boards and bolts with the table top facing the ground (refer to figure 1).

Use tape on the head of the bolt to hold it in place while setting the boards into the proper

position.

Helpful hint:

Step 1: If using wood provided by others, refer to pages 3 and 4 for hole drilling patterns. If using

wood provided by Jamestown, begin by separating the seat boards (2 req’d) from the table top

boards (3 req’d) (refer to pages 3 and 4). Place the 3/8”-16 x 2 1/4” carriage bolts through the pre-drilled

table top boards. Place boards and bolts with the table top facing the ground (refer to figure 1).

Use tape on the head of the bolt to hold it in place while setting the boards into the proper

position.

Helpful hint:

Step 2: Place the frame uprights over the carriage bolts Secure finger tight using

one 3/8” lockwasher and one 3/8” nut per bolt. Repeat this step for each upright required (2 uprights for

6’ & 8’, 3 uprights for 10’ & 12’ tables). On the uprights located at the ends of the table, the flange should

be placed towards the end of the table boards (refer to figure 2). On the 10’ & 12’ tables, the center

upright may be placed with the flange facing either end.

(refer to figure 2).Step 2: Place the frame uprights over the carriage bolts Secure finger tight using

one 3/8” lockwasher and one 3/8” nut per bolt. Repeat this step for each upright required (2 uprights for

6’ & 8’, 3 uprights for 10’ & 12’ tables). On the uprights located at the ends of the table, the flange should

be placed towards the end of the table boards (refer to figure 2). On the 10’ & 12’ tables, the center

upright may be placed with the flange facing either end.

(refer to figure 2).

Step 3: Place the center bracket, shown in figure 3, over the carriage bolts located at the center of the

table. If handicap accessible is required, place the handicapped bracket over the carriage bolts located

at the end of the table (refer to figure 4). Place two 3/8”-16 x 1” carriage bolts through the outside of the

rectangular slots of the center bracket as shown in figure 3. For a handicapped accessible table, place

one 3/8”-16 x 1” carriage bolt through the rectangular slot of the handicapped bracket as shown in figure

4. Secure the center and/or handicapped bracket finger tight using one 3/8” lockwasher and one 3/8”

nut per bolt.

Step 3: Place the center bracket, shown in figure 3, over the carriage bolts located at the center of the

table. If handicap accessible is required, place the handicapped bracket over the carriage bolts located

at the end of the table (refer to figure 4). Place two 3/8”-16 x 1” carriage bolts through the outside of the

rectangular slots of the center bracket as shown in figure 3. For a handicapped accessible table, place

one 3/8”-16 x 1” carriage bolt through the rectangular slot of the handicapped bracket as shown in figure

4. Secure the center and/or handicapped bracket finger tight using one 3/8” lockwasher and one 3/8”

nut per bolt.

2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM

PICNIC TABLE ASSEMBLY INSTRUCTIONS

10’ & 12’ BOARD LAYOUT

PICNIC TABLE ASSEMBLY INSTRUCTIONS

10’ & 12’ BOARD LAYOUT

STD. 4', 6' & 8' TABLESTD. 4', 6' & 8' TABLE

STD. 10' & 12' TABLESTD. 10' & 12' TABLE

3
/8

S
P

L
IT

R
IN

G
W

A
S

H
E

R
3

/8
S

P
L
IT

R
IN

G
W

A
S

H
E

R

3
/8

-1
6

N
U

T
3

/8
-1

6
N

U
T

3
/8

-1
6

X
1

"L
G

.
C

A
R

R
IA

G
E

B
O

LT
3

/8
-1

6
X

1
"L

G
.
C

A
R

R
IA

G
E

B
O

LT

3
/8

-1
6

X
2

1
/4

"L
G

.
C

A
R

R
IA

G
E

B
O

LT
3

/8
-1

6
X

2
1

/4
"L

G
.
C

A
R

R
IA

G
E

B
O

LT

S
E

A
T

B
O

A
R

D
S

E
A

T
B

O
A

R
D

T
A

B
L
E

T
O

P
B

O
A

R
D

T
A

B
L
E

T
O

P
B

O
A

R
D

STD. 8' & 10' HC TABLESTD. 8' & 10' HC TABLE

STD. 12' HC TABLESTD. 12' HC TABLE

C
R

O
S

S
B

R
A

C
E

C
R

O
S

S
B

R
A

C
E

2 23 4 27 2732

2 3 4 36 8 44 44

2 3 2 26 6 32 32

2 3 4 39 10 49 49

H
A

N
D

IC
A

P
P

E
D

C
R

O
S

S
B

R
A

C
E

H
A

N
D

IC
A

P
P

E
D

C
R

O
S

S
B

R
A

C
E

0

0

1

1

FIGURE 1

FIGURE 2

28552855 GirtsGirts Road,Road, Jamestown,Jamestown, NYNY 14701,14701, Ph.Ph. 800-452-0639,800-452-0639, FFaaxx 716-483-5398,716-483-5398, WWWWWW.JAMESTOWNAD.JAMESTOWNADVVANCEDANCED.COM.COM

PAGE 4 PAGE 1

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(9
R

E
Q

'D
)

(9
R

E
Q

'D
)

T
A

B
L

E
T

O
P

S
E

A
T

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

H
A

N
D

IC
A

P
P

E
D

T
A

B
L

E
T

O
P

T
A

B
L

E
T

O
P

H
A

N
D

IC
A

P
P

E
D

1
5

/8
"

1
5

/8
" 6

"
9

1
/4

"
9

1
/4

"
N

O
M

IN
A

L
4

5
/8

"
4

5
/8

"

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(8
R

E
Q

'D
)

(8
R

E
Q

'D
)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(6
R

E
Q

'D
)

(6
R

E
Q

'D
)

2
"

X
1
0
"

X
1
0
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
1

0
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

T
H

IS
T

O
P

R
E

Q
U

IR
E

S
8
' S

E
A

T
B

O
A

R
D

S
T

H
IS

T
O

P
R

E
Q

U
IR

E
S

8
' S

E
A

T
B

O
A

R
D

S

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(8
R

E
Q

'D
)

(8
R

E
Q

'D
)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(6
R

E
Q

'D
)

(6
R

E
Q

'D
)

9
1

/4
"

9
1

/4
"

N
O

M
IN

A
L

6
"

1
4

4
"

1
5

/8
"

1
5

/8
"

1
4

4
"

9
1

/4
"

9
1

/4
"

N
O

M
IN

A
L

6
"

4
5

/8
"

4
5

/8
"

1
5

/8
"

1
5

/8
"

1
2

0
"

9
1

/4
"

9
1

/4
"

N
O

M
IN

A
L

1
5

/8
"

1
5

/8
"

9
1

/4
"

9
1

/4
"

N
O

M
IN

A
L

6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

9
1

/4
"

9
1

/4
"

N
O

M
IN

A
L

6
"

1
5

/8
"

1
5

/8
"

6
0

"

4
8

"

4
5

/8
"

4
5

/8
"

6
"

1
5

/8
"

1
5

/8
"

1
0

9
7

/1
6

"
1

0
9

7
/1

6
"

8
4

1
1

/1
6

"
8

4
1
1

/1
6

"

3
5

5
/1

6
"

3
5

5
/1

6
"

1
0

2
1
1

/1
6

"
1

0
2

1
1

/1
6

" 1
3

3
7

/1
6

"
1

3
3

7
/1

6
"

1
1

2
1
1

/1
6

"
1
1

2
1
1

/1
6

"

8
5

7
/1

6
"

8
5

7
/1

6
"

8
4

1
1

/1
6

"
8

4
1
1

/1
6

"

1
0

9
7

/1
6

"
1

0
9

7
/1

6
"

4
5

/8
"

4
5

/8
"

4
1

5
/1

6
"

4
1

5
/1

6
"

7
2

"

1
2

0
"

3
5

5
/1

6
"

3
5

5
/1

6
"

6
0

"

1
3

6
1
1

/1
6

"
1

3
6

1
1

/1
6

"

1
0

9
/1

6
"

1
0

9
/1

6
"

T
A

B
L

E
T

O
P

S
E

A
T

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L

E
7

/1
6

"
D

IA
M

E
T

E
R

H
O

L
E

(6
R

E
Q

'D
)

(6
R

E
Q

'D
)

1
0

9
/1

6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

T
H

IS
T

O
P

R
E

Q
U

IR
E

S
1
0
' S

E
A

T
B

O
A

R
D

S
T

H
IS

T
O

P
R

E
Q

U
IR

E
S

1
0

'S
E

A
T

B
O

A
R

D
S

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

2
"

X
1
0
"

X
1
2
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
1

2
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

2
"

X
1
0
"

X
1
0
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
1

0
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L

L
B

O
A

R
D

S
)

2
"

X
1
0
"

X
1
2
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
1

2
' L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

R:\ISO\WI-WI 10.0 WOOD PICNIC TABLE ASSY. INSTR. RV. 7.24

FIGURE 3

PLEASE NOTE:
If you purchased lumber from Jamestown, the lumber is not designed 
to be stored for long periods unassembled. If you need to store your 

product from more than one month from time of receiving your 
shipment, it is best practice to store your product completely 

assembled. If the lumber is not assembled, it may dry out, warp, 
and become difficult to assemble over time. Jamestown is not 
responsible for replacing lumber that has been stored for long 

periods of time prior to assembly.
FIGURE 4



PICNIC TABLE ASSEMBLY INSTRUCTIONS

4’, 6’, & 8’ BOARD LAYOUT

PICNIC TABLE ASSEMBLY INSTRUCTIONS

4’, 6’, & 8’ BOARD LAYOUT

2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM2855 Girts Road, Jamestown, NY 14701, Ph. 800-452-0639, Fax 716-483-5398, WWW.JAMESTOWNADVANCED.COM

PICNIC TABLE ASSEMBLY INSTRUCTIONS

StepStep 4:4: AttachAttach thethe crosscross bracebrace toto thethe boltbolt inin thethe centercenter bracketbracket usingusing oneone 3/8”3/8” lockwasherlockwasher,, andand oneone 
3/8”3/8” nutnut (refer(refer toto figurefigure 3).3). AttachAttach thethe otherother endend ofof thethe crosscross bracebrace usingusing oneone 3/8”-163/8”-16 xx 11”” carriagecarriage bolt,bolt,
oneone 3/8”3/8” lockwasherlockwasher,, andand oneone 3/8”3/8” nutnut toto thethe frameframe angleangle asas shownshown inin figurefigure 5.5. RepeatRepeat thisthis stepstep forfor eacheach 
crosscross bracebrace required.required. AttachAttach thethe handicappedhandicapped crosscross bracebrace inin aa similarsimilar fashionfashion asas shownshown inin figuresfigures 66 && 77..

Note:Note: TheThe 10’10’ && 112’2’ tablestables havehave oneone crosscross bracebrace thatthat isis shortershorter thanthan thethe rest.rest. TheThe crosscross bracebrace thatthat hashas aa 
bentbent flangeflange onon oneone endend isis usedused onon thethe 12’12’ TTableable (figure(figure 8),8), andand thethe crosscross bracebrace bentbent onon bothboth endsends isis usedused
onon thethe 10’10’ TTable.able. ThisThis crosscross bracebrace needsneeds toto bebe attachedattached toto anan innerinner frameframe uprightupright asas shownshown inin figurefigure 8.8.
AA 110’0’ TTableable wouldwould havehave aa crosscross brace,brace, inin thethe samesame location,location, withwith aa bentbent flangeflange onon bothboth ends.ends.

StepStep 55:: AttachAttach thethe twotwo seatseat boardsboards toto thethe frameframe uprightsuprights seatseat bracket.bracket. AlignAlign thethe seatseat boardboard pre-drilledpre-drilled 
holesholes toto thethe holesholes inin thethe seatseat bracket.bracket. AttachAttach usingusing fourfour 3/8”-163/8”-16 xx 22 1/4”1/4” carriagecarriage bolts,bolts, fourfour 3/8”3/8” locklock
washers,washers, andand fourfour 3/8”3/8” nutsnuts perper seatseat boardboard (refer(refer toto figurefigure 9).9).

StepStep 6:6: TTightenighten allall hardware.hardware. TTightenighten thethe nutnut untiluntil thethe boltbolt headhead startsstarts toto compresscompress intointo thethe board.board. WWee 
recommendrecommend aa 9/16”9/16” socket.socket. WWarningarning:: DDoo notnot overover tightentighten thethe carriagecarriage bolts.bolts. OverOver tighteningtightening maymay 
causecause thethe woodwood toto splintersplinter and/orand/or split.split.

StepStep 7:7: TTurnurn tabletable upright.upright. WWarning:arning: THETHE JAMESTJAMESTOWNOWN TTABLESABLES AREARE

VERVERYY HEAHEAVYVY.. TURNINGTURNING THETHE TTABLEABLE OVEROVER ININ ANAN UNSAFEUNSAFE

MANNER,MANNER, MAMAYY CAUSECAUSE INJURINJURYY.. EXERCISEEXERCISE EXTREMEEXTREME CAUTIONCAUTION

WHENWHEN TURNINGTURNING OVER.OVER.

FIGURE 5

FIGURE 6

FIGURE 7

FIGURE 8

PAGE 3PAGE 2

FIGURE 9

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

(5
R

E
Q

'D
)

(5
R

E
Q

'D
)

T
A

B
L
E

T
O

P

S
E

A
T

T
A

B
L
E

T
O

P

S
E

A
T

S
E

A
T

T
A

B
L
E

T
O

P

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

4
5
/8

"
4

5
/8

"

7
2
"

3
6
"

T
A

B
L
E

T
O

P
H

A
N

D
IC

A
P

P
E

D

3
7

7
/1

6
"

3
7

7
/1

6
"

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

9
1
/4

"
9

1
/4

"
N

O
M

IN
A

L

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

(6
R

E
Q

'D
)

(6
R

E
Q

'D
)

4
8
"

2
4
"

8
5

7
/1

6
"

8
5

7
/1

6
"

9
6
"

4
8
"

6
1

7
/1

6
"

6
1

7
/1

6
"

3
6
"

6
1

7
/1

6
"

6
1

7
/1

6
"

8
8

1
1
/1

6
"

8
8

1
1
/1

6
" 9
6
"

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)
(W

E
R

E
C

O
M

M
E

N
D

A
3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)

2
"

X
1
0
"

X
4
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
4
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)
(W

E
R

E
C

O
M

M
E

N
D

A
3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)

2
"

X
1
0
"

X
8
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
8
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

H
A

N
D

IC
A

P
P

E
D

T
A

B
L
E

T
O

P
L
A

Y
O

U
T

T
H

IS
T

O
P

R
E

Q
U

IR
E

S
6
'S

E
A

T
B

O
A

R
D

S
T

H
IS

T
O

P
R

E
Q

U
IR

E
S

6
'S

E
A

T
B

O
A

R
D

S

2
"

X
1
0
"

X
8
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
8
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)
(W

E
R

E
C

O
M

M
E

N
D

A
3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)

2
"

X
1
0
"

X
6
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

2
"

X
1
0
"

X
6
'L

U
M

B
E

R
S

O
U

T
H

E
R

N
Y

E
L
L
O

W
P

IN
E

#
1

(W
E

R
E

C
O

M
M

E
N

D
A

3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)
(W

E
R

E
C

O
M

M
E

N
D

A
3
/8

"
R

O
U

T
E

D
E

D
G

E
R

A
D

IU
S

O
N

A
L
L

B
O

A
R

D
S

)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

(4
R

E
Q

'D
)

(4
R

E
Q

'D
)

1
5
/8

"
1

5
/8

" 6
"

1
5
/8

"
1

5
/8

" 6
"

1
5
/8

"
1

5
/8

" 6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

4
5
/8

"
4

5
/8

"

(4
R

E
Q

'D
)

(4
R

E
Q

'D
)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

1
5
/8

"
1

5
/8

" 6
"

1
5
/8

"
1

5
/8

" 6
"

1
0

9
/1

6
"

1
0

9
/1

6
"

4
5
/8

"
4

5
/8

"

(5
R

E
Q

'D
)

(5
R

E
Q

'D
)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

(4
R

E
Q

'D
)

(4
R

E
Q

'D
)

6
"

1
5
/8

"
1

5
/8

"6
"

1
5
/8

"
1

5
/8

"

4
5
/8

"
4

5
/8

"

(5
R

E
Q

'D
)

(5
R

E
Q

'D
)

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

7
/1

6
"

D
IA

M
E

T
E

R
H

O
L
E

1
0

9
/1

6
"

1
0

9
/1

6
"




